Question Paper Preview

Question Paper Name: ENGINEERING 20th April 2019 Shift2
Subject Name: ENGINEERING
Duration: 180
Share Answer Key With Delivery Yes
Engine:
Actual Answer Key: Yes
Mathematics
Display Number Panel: xS
Group All Questions: No

Question Number : 1 Question Id : 1874633841 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

3 i . | 3x+5 g .
If /f:R - {? — R - {=¢ 1sgivenby f(x)= o then the statement which 1s not true. 1s
| - Jx—3
3 &4 | 3x+5 - — )
fIR—-4zr=2R-{= f(_.l'):_,—; ™ AN, wdSgHn ©ddy IS0
7 /X — 2
Options :

0= 1()

1

(fof (x) = x

-2

(fofof )(x) = x
(fofofof )(x) = x

Question Number : 2 Question Id : 1874633842 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

collegedunia:

India’s largest Student Review Platform




If /f:A— B.g:B — C are functions such that gof : A — C 1s onto. then a necessary

condition 1s

gof: A - C doidodlgotn f:A—B. g: B — Coud @Roairenod, o8 eddgsdabioo

Options :
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neither / nor g 1s onto

FOofiRdn &, g Joiadn 5780

Question Number : 3 Question Id : 1874633843 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

'3 91 I

The sum to first » terms of the series —+—+ +... 18
5 25 325

3. 3 21 117 o 4 "
B —+—+ +...5°Q0 WAL ndocreo Indo
5 23 125
Options :
?ﬂ'f‘l S
n+ —
IS 2
jﬂ"‘l -
n— -—
Ix5" 3

-2

-

el

collegedunia:

India’s largest Student Review Platform



n+ +
3%s® 3
3.
-}ﬂ+1 ~
n— +—
25 il
4

Question Number : 4 Question Id : 1874633844 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

& 2 1] 3 4 &)
The sum of the values of xsothatthematrix | 1 3 1|-x/0 1 0] 1ssingular.is
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| cosa
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If abc# 0 and the system of equations x + 7ay + 2az = 0. x + 6by + 2bz = 0.

x + Scv +2¢z = 0 has a non-trivial solution. then a. b. ¢ are in

abc# 0 @ydr, x + Tay + 2az = 0. x + 6by + 2bz = 0, x + S5¢cv +2¢z = 0 doEerre
SR8 e SYBSE FES €08, a.b. c oo o8 @6

Options :

Harmonic progression
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Geometric progression
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Arithmetic progression

woE@&

Arithmetico-geometric progression

®oE-EE
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Z1. Zp are complex numbers with |:1 - :3| < k If the complex number z satisfies the

condition |z —;|+|z—=,|=% . then z lies on

| 3 -—:2| <k edbgtotn z1. 2y &0 Ho8g Sopgen. L|:—~:1|+|_ -—:EI:R"@;’E QIDHTQ) F&oB

208% dowg z wod SEo

Options :
a parabola

8 JoCNOHIW

an ellipse

w8 B3 5yd0

!-J

a circle

&8 5')5‘5;0

a hyperbola

w8 8T IODHSW
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In the complex plane C. the set {: eC: arg( -:—_l-] = %} represents
z+ -

K}ugg $oo C&*, dd {:e B Mg(f—li]:%} _DrhoBd

Options :
a straight line

o8 J8¢ B
l.

a circle

28 :6;)55‘:0

-2

a parabola

w8 dorHe oo

an ellipse

2.8 533539_3;0
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Fora.b.c.de R.ifz;=a+ib.z,=c+id are such that |z, |=|z,| = 1 and Re(z 5, ) =0.

then the pair of complex numbers 1w, = a + ic and w, = b + id satisfy

)=0

=a+ic 3Bk w, = b+ id éﬁ;’:{}a&

a.b.c.de Ro®, z;=a+ib.z,=c+ide, |z,|=|z,| =1 58050 'Re(:l %

@cﬁagméqg S08, @IV éugg Sopge 2d W

1
Olli.ﬁﬂllS:
Re(u*l 1_1‘2) =1
5 1|'H'i| * |11'2|
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5, |1i‘1| = |1|‘3| —% |
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For x > 2. the equation {/x+2 —y/x—2 =+/4x—2 has

Xx>2 Bx+2-Jyx—-2=+4x—-2 &3 50888

Options :
One solution

: a8 PN Godnod
Two solutions

VO Y0t o

i3

collegedunia:

India’s largest Student Review Platform



More than two solutions
Bodo €08 Qé)zrf.} L0 0LT0N
3.

No solution

PN OB
4.
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X :
If x € R. then the range of — 15
X —=35x+9
. X
x € Reond, — Qg T°gY

X°—5x+9

=
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If & . yare the roots of the equation x° — ax” + bx — ¢ = 0. then Zaz (B+7)=

o B.yen x —ax® +bx —c = 0 5DEG0ED Bng), Soreres ©and, Zaz (B+7)=

[ ]
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ab - 3c

ab—3c
; C
7
b° —2ac
2
- c
g
a- —2b
2
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. . 2 .
The sum of all the rational roots of the equation 6x°—25x° + 312 =313 +25x—6=01is

6x° — 25x° + 31x* — 3127 + 25x — 6= 0 HEmo BE), WESBOH Hrwrodyd Ingo

Options :
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+=
-
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The number of five digit numbers that are divisible by 6 which can be formed by choosing
digits from {0, 1. 2. 3. 4. 5}. when repetition 1s allowed., 1s

Q3558 ©H083, {0.1.2.3.4.5} &' 90800 J00E BISYW, 6 VS griodadn

g
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648

540

%]

1296

1080
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A person mvites 8 guests to a dinner and places 5 of them at one table and the remaining
3 at another. both the tables being round. The number of ways in which the guests can be
arranged 1s

&8 558 8 Ho0d wéHod Johi sSHI0N, DHoPor &J) ok YOS wLETR I8

= 4 ™

DDA, PETA SG S0HOJ GoTrd. 8 BEHON @G KON T Qo

Options :

40320

2688

L2

8064

13440
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If 15F divides 47! but 157! does not divide it. then k=

4718 15% erasz, o8y 155 ornosed, k=

Options :

3 15

; A2
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Log LN : ) 4 I ; ;
f(1+x+x7) =cytcx+ex”+... thenthe value of cyc; — 05 0503 — ... 18
2 2 :
(l+x+x)"= CoT CX T ... ®a08, WIYE €€ — €€y T €03 — ... BRF), DOID

Options :

D"

L2
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If x is so small that x2 and higher powers of x can be neglected. then the approximate value
3 Yaf . 2x\72
r 3 \2 2x .
of (1+—x]-(1——] 1S
4 3

= 5000w x cBoeéEI e Sraren H0KSeS U8 HRENIS80 Sdod :D@&m X 408,
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41-24x
41

12

24+ 41x
24

24-41x
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= P(x —_— B
(x—a)x—-b)(x—c) i 2 ” e oy + — then P(0) + A(a-b) (a—c)

4
A A B C ) |
=P(x)+ + + sa8, P(0) + A(a-b =
(x—a)(x—=b)(x—c) ) x—a x-b x—c (0) + A(a-b) (a—)

Options :

A+ +ct+a
1

ﬁa+b+€
it i

3

) a+b+c+adat
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. . . o .
If sinax = p. then the quadratic equation whose roots are tan—. cot— 1s

: . o o
SINOL = P BOIDYE tan—. cot?e.neﬁ.: Soresnenm 008 SESEs00

Options :
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"y

px —2x+p=0

p.rz +2x+p=0
p.rz +x+p=0
3.
.
A px"—=x+p=0
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cos66° + sin84° =

Optiﬁns :
(v3++/5)

L
4

%J?(ﬁﬂ)

=

RENIN

1
4
L5+
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If tan @+ tan 20+ /3 tan @ tan 20 =+/3 . then the general values of 0 are

tan @ + tan 26 + \/g tané@ tan 268 = ﬁ ©wons, 0 Qg FTTw IS

Options :

(3n+1)—.nelk

[ ]
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(_SH+1)§J? el

=

(3H+1)%.HEZ
(2n+1)%.ne£ﬁ
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. g itich : o 3R oot X o .
The sum of the values of x satisfying the equation Sin 1[—] +Sin I(T) =Sin ! (x). is

. e o (R .
Sin l(ﬂJ Sm 1(-—1)=Sm 1(:'.') Q S)Rwld X QW) IV WO

Options :

, 0

B | -

L2

l'#||—l
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If 0= % and x = log cot( % + 9) then sinh(x) =

e

9=% 08cdw x=lo cot(%+9] wod, sinh(x) =
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In A ABC. if the median AD drawn through A is perpendicular to the side AC. then
3ca cosA cosC +2a° =

A ABC &*, Ao DS 53&53:’1&-‘5 O AD, hadn ACE eowoir 408, @ﬁjéo
3ca cosA cosC + 202 =

Options :
Cz
1.

13
2
Ly

-2

3¢

)

dc
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Let A denote the area of a A ABC. If o. fB. y are the lengths of the altitudes of the AABC.
= =2 .
then o z-f-ﬁ “+y =

A ABC Bw¥), 37oghinss ASrdRodhFomre. AABC &ug), ahde réw a. .y

=

g ) =
Q 3 o % BN i —
@wond, edvydh o+ +y

Options :
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i tandA+tan B+ tan C
A

i(cot A+cotB+cot(C)

12

2

&T(tan,~1+tm18+tm1(“]

5

T(cot A+cotB+cotC)
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InAABC. (r; +r3)cot[B—:‘c‘) -

: B+C
AABC&”, (?'3 +23)c0t —
2
Options :

la+b—c

a

-2
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If the vectors AB=7 + 3j +4k. AC =57 +j +2k are two sides of a triangle ABC. whose
centroid 1s G. then ‘E‘ =

AB=7 +3] +4k 38090 AC =57 + ] + 2k en G Soardom Ko @ghasn ABC &g,
Sl gheren wand, AG‘ =
Options
2
22
s 3
22
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The point of intersection of the lines represented by 77 = (IfT +27 -k ) + /1( 2i +37 +4k )

and 7 = (-7 -37+ 7&7)+p(?+27—i\7) is

7 =(7+27 —F)+ A(27 +37 + 4Kk ) So00% 7 = (7 =37 +7F )+ (7 + 27 —F ) & 003
8 Do pods Do

Options :

3T +57+3k

5i +8j +7k

L2
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—37 47 -9
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If A. B. C and D are points whose position vectors are 7 + j + k. 47 — j +2k. 5i + J.

7i + 27 + 3k respectively. then the projection of AB on CD is

T7 +27 + 3k e S0 Dododen A, B.C. Do @k,

!-..i'

v
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~ — . . T
Let @ and b beunit vectors with 6 as the acute angle between them. If :|a —-b ‘ =sin A6

then 442 =
o | | T
a. b oHrIS 68T HdsH 0 58 Dgg @e.::jg‘m:im @808, ;‘a——b|=smi€

wond, 447 =

Options :

, 4

[ ]
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Let 7 =27 —3j +4k. b =7 +2j — 2k and & =37 — j + k . The volume (in cubic units)

of the parallelopiped having 7 +b +¢. @—b +¢ and @+b —¢ as coterminus edges is

Q|
Il
-
~|
l
)
~.|
+
Y
S|
Il
~|
.+.
)
~|
I
)
£A
o
ga
2]
Il
LS
el
I
~.|
+
|
3

0508°08. WdyE T+b+C .

G—-Db+C. G+b—-Cod 3538 hereor Ko 50088 POEY) JNSBAr0

Options :

l . 6

1
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If [a| = 1. [b

=1.|¢|=2 and @x(@xz)+b =0. then (7-7)" =

I

'|E|:1. ] =1 J¢|=2 o852 ax(axc)+b =0 wond, '(Eq-(,—)z

Options :

1.1

12
)

[ ]
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-

The vanance of the observations 2. 3.5.7.11.13.17.22 1s

2,3.5.7.11. 13. 17. 22 &% S0l BwE), I8

Options :
43.75

48.25

1

80
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The coefficient of variation and standard deviation of an ungrouped data are 60 and 21
respectively. If 15 1s added to every observation of the data. then the coefficient of variation
of the new datais

@8 ©I08 d@rodo QWY JTOITT0EIN N0 EDnJToddwer S83m 60 Sodabn
1

F0S°Q 98 H0IOIR 15 o BOLIGYED 3Ty 58 derodo BwE), JdoTroso

12
=
r2
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Each of the two boxes A and B contain 10 chits numbered 1 to 10. If one chit 1s drawn at
random from each of A and B. then the probability that the number on the chit drawn from
A 1s smaller than the number on the chit drawn from B. is

A, B2Bos™ ©8 orde® 15000 10 568 Sopgen 308 10 D&eoaryon. @8 2 Sood
28 DES drdREor JodE TR, Adod &S D8 o) Sopg, B Hod &BS O
RN Sopg 508 DHE @cﬁ)s Dogrdgd

Options :

2
, 16

L
20

12

19

3 20

17

—_—

4. 20
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An envelope 1s known to have come from either ‘LONDON" or *CLIFTON". On the postal
mark only two successive letters ON are legible. The probability that the envelope comes
from LONDON is

‘LONDON’ 8 ‘CLIFTON" {H0& 28 &dgfo Sd$in 8d00h. o0 N8 Ko dJro
S|P ON ©do Body SHd witres SrEd SRorr EAVRTw. & ¢ddo LONDON
WDo& TITRE o Jogridgd

Options :
12
17
L
5
7 17
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The probability function of a random variable X is given by P(X = k) = ck”. where ¢ is a
constantand k€ {0.1.2.3.4}. If o~ is the variance of X and i 1s the mean of X. then

o +u’=

28 oSrSyNNE Yoo X Bk, Soarsge BHoko PX=K) = ck’ r ansedss. a8 d
c o YUrosn Ho0a0 ke {0, 1.2, 3. 4}. X Bwg, 25)8 0 Ho0ahn X B, HSgio
Heod, 07+ p’=

Options :

3.33
i

11.8

%]
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In a book of 250 pages. there are 200 typographical errors. Assuming that the number of
errors per page follow the Poisson law. then the probability that a random sample of
5 pages will contain no typographical error 1s

250 Den o o8 HIBoS* 200 wEsSTren Kod. o8 WdS® fo o Sopg Fawes
5 Ddedst, J «is &ho Shoa
GO% K)ueﬁ‘“f}gé

Options :

gcollegeduniaa

el



L-2

16

-

ei’:
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Y

: = : ) .
The locus of a pomt P(x. y) satisfying the equation J( x—2)" + T \(( x+2)7 + v =4, is

2 2 2 2 o s B £ ot - o Y o - L w W il
\/(1'—2] +y +J(.T+2) +17 =4 0D JECQ) dyn 0D Doy P(x. v) Swg, DododgHm

Options :

an ellipse

w8 &Y 5yss0
]

a parabola

o8 DTHODID

-

a line segment

% O poSSw

a circle

8 DD

—d
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If the origin 1s shifted to (2. 3) and the axes are rotated through an angle 45° about that
' . 7 .
point, then the transformed equation of 2x~ + 2_1'2 —8x—12v+18=01s

SorodothPn (2. 3) 85 ), vxodh o Dot Syry 45°% Fwod® Yo T,
wdydo 2x” +2)° — 8x — 12y + 18 = 0 Bw¥, H058S SDoEGe0

Options :

¥ — 7_1'3 —14xy-2=0

2 2
L XYy =4

2 2

-1 =4
3.

2 2

X" -2y =9

4. )

Question Number : 43 Question Id : 1874633883 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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A line passing through P(4. 2) cuts the coordinate axes at A and B respectively. If O 1s the
origin. then the locus of the centre of the circum-circle of AOAB is

P(4. 2) Doty fom Y $6¢ Bp AErHE egoH SHST A Bo 5§ 208F0b.
O Srodoih38, AOAB @BnE), H05)F80E DoELHEEW

=

7+ 2_1"1 =1
2+ 3y =1
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The centroid of the triangle formed by the linesx+v—-1=0.x—v—-1=0.x-3v+3=0 15

x+y—1=0.x—y-1=0.x-3y+3 =000 5B @hain Bo¥), Sofbegdin

Options :

Question Number : 45 Question Id : 1874633885 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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The quadratic equation whose roots are the coordinates of the circumcentre of the triangle
formed by the points (2. —1). (6. —1). (2. 5) 1s

(—2.-1).(6.-1). (2. 5) Do Hod bo’ﬁ 185023500 BLE), J880|50 AErIs0 R Sorerenn
KONS 5P5DEB0
Options :

Y —5+6=0

222 -9y +9=0

-3

3x2—8x+4=0

6x>—13x+6=0
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The straight line x + v + 1 = 0 bisects an angle between a pair of lines. of which one 1s
2x — 3v+ 4 = 0. Then the equation of the other line in that pair 1s

Xx+ry+1=0e3 36¢ T, 2x -3y +4=05 o8 S5¢ T ONS o8 O oo &g
Ho o ?ETE{Q) SISTALC T IFoB. OIYD & o o“jwﬁémse.’i“a S06* T8 JEBeeo

Options :

2x+3y+4=0
1

x—yv+1=0

5x-5v+9=0
;¢

Ix=2v+5=0
4

Question Number : 47 Question Id : 1874633887 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

; o " . 2
If the pairs of straight lines represented by 3x” + 2hxy — 33” = 0 and

g, v,
3x°+ 2hxy—3v" + 2x —4v + ¢ = 0 form a square then (1, ¢) =

12 2 » 2 2 ; 8 : o o
3x% + 2hxy —3y"=058050 3x” + 2hy — 31" + 2x — 4y + ¢ = 0 SorD0B S50z aiomyen

08 SSIFA 50 (h, ) =

Options :

, (4. -1)

(-1.4)

-2

(—4. 1)

sl

i (1. 4)
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The equation of the bisectors of the angles between the lines joining the origin to the
points of intersection of the curve x> + 33 +1° +x+ 3y + 1 =0 and the line x + v+ 2 =0 is

P+t x4+ 3+ 1=05ES0 80k x+ v+ 2=0385¢ dpo BES DodHoss
DrodothYHE o0 ¢ Tpo dgfmre D), SSodwods Tpo Do &G S0

2
2X"+5xy—y"=0

L2

2 2
X“+6xy—2v"=0

2 2
222 4y + 297 =0

Question Number : 49 Question Id : 1874633889 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A is the centre of the circle v° + 1 — 2x — 4v — 20 = 0. If the tangents drawn at the points
B (1.7)and D (4. -2) on the circle meet at the point C. then area of the quadrilateral ABCD
(1n square units) 1s

X+ 37— 2x — 4y — 20 = 0 53850 BwE), Tosn A & 5E50D B (1, 7) S00050
D (4, -2) dochoho 3¢ HAS $)8) Spen C Dot $& 807, ABCD Ssbdye 3Togo
(5. chrdLes®)

Options :

75
L.

64

L3
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Question Number : 50 Question Id : 1874633890 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The point of concurrence of all conjugate lines of the line 5x + 7v— 78 = 0 with respect to
. 2 2 E
the curclex™ +1v" +6x +8v—-96=01s

176+ 81 —96=0 SyBo &g, Sx+Ty—T8=038¢ Tp Roog), ) ook Dpo

- |
P —
L]
'l
|
B ]
S

Question Number : 51 Question Id : 1874633891 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

= : 2 y,
The number of commeon tangents to the curcles x™ +1" +4x—-6v—12=0and
7 ¢, .
X +y -8+ 10y +5=01s

'} b " __2_ 2 - = " ” » " B e o’
Xy A —6y—12=0500050 X"+ - 8x + 10y + 5 = 0 S)smeosh fo ¢&s e Sopg

e

Options :

LI'S]

12

(.
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If the two circles (x — 1) + (v— 3)? =77 and +‘1'2 — 8x + 2v + 8 = 0 intersect at two
distinct points. then

@—1)7+—3) =" 500%0 1° +37 - 8x+ 2y + 8§ = 0 0 Srdod SEeo Dok D)
Do heo :SQ HOB0THT 00T, IV

o

Options :
2<r<8

1<r<9

(B8

Question Number : 53 Question Id : 1874633893 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

. 2 2 . . .
If the circle x° + y° + 6x — 2v + k£ = 0 bisects the circumference of the circle
2 2
X" +y +2x—6v—15=0,then k=

2 +37+6x -2y + k=003 S, x* +37 +2r— 6y - 15=0 o3 Sygs0 @), S0
‘éﬁ;&\smuéé 5@;{.}53. k=

Options :
$,
l : — 1

1
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The equation of the circle which cuts the circles
PP +HA—T=0. 232 + 237+ 3x + 5v—9=0. x> +37 + y = 0 orthogonally is

P +37+4x=T=0, 2 +2)7 +3x+5y-9=0, x* +3” +y=05gosH vonFiso FH

:Sag“.a:u BwE), D €800

Options :

% -i-_rz —4x-2y—-1=0
3

.1‘2-5-_1‘2—4.1'—6}*—3 =0

(1

- R, 3 _ 4
X+ —4x-2y-3=0

X —i-jr2 —2x—-4y-1=0

Question Number : 55 Question Id : 1874633895 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The vertex and the focus of the parabola 2.1'2 + 5x— 6y + 1 =0 are respectively

2_1'2 +5x -6y + 1 =030°d000 Bg), 360 00 79 &S

Options :
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Question Number : 56 Question Id : 1874633896 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If a normal chord at a point 7 (# 0) on the parabola 1* = 9x subtends a right angle at its
vertex. then 7=

k.

J} * i -
¥ =9x3r008 SordochidnD 1(#0) Dok S8 wdoon g, T 200 ¢ Lot ieain

12

|15
iy

Question Number : 57 Question Id : 1874633897 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The major and munor axes of an ellipse are along the X-axis and Y-axis respectively. If its

latus rectum is of length 4 and the distance between the fociis 4+/2 . then the equation of
that ellipse 1s

2.8 5?,5“5&”:@ 55‘;5_0* Ao Sdodr X-wgo, Y-ofo Jowd GIjon. T SrHooo

569 4 500050 TEhoEs Erdo 442 wand, & 68 Sydo HMESo

Options :
2 2
25 +ty =16
i
2
C+27=16
i
1‘2 3 2
—+—=1
Z 8
- §
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Question Number : 58 Question Id : 1874633898 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If ¢ € [Rbe such that the line 4x —y+ ¢ = 0 touches the ellipse x” + 43° = 4. then an equation

having all such values of ¢ among its roots 1s

x—-y+c=0e3 3568, x°+47” =4 o3 65BN Spodinm c e R &oB, od
DrOiNnod” virodl wd) ¢ BuE), dwdod SN G 08 JDWESW0

Options :

x° —(1+\[l—7)x+\/ﬁ:0

1.

¢ Ixz -(1-\/1_7)1:-\/5:0

-

x—x2—17x4+17=0

x3 —x2+1?x—17=0

Question Number : 59 Question Id : 1874633899 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If e,. e, are respectively the eccentricities of the curves 9v% — 16v* — 144 = 0 and

2 2

o i I
3,3
e +é;

s 16;.'2 + 144 = 0. then

0> — 16y — 144 = 0, %% — 16" + 144 = 0 S50 &P oBden 5D e;. e, ©and,

a2
e e
odvd ——2_=
o/ 2 2
E'l +EE
Options :
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Question Number : 60 Question Id : 1874633900 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

IfA(2.4.-1).B(3.6.—1)and C(4. 5. 1) are three consecutive vertices of a parallelogram.
then its fourth vertex is

A(2.4.-1). B(3. 6,-1). C(4. 5. 1) e e SSroddsdhdnad Sard 6% 30288, od
Ty ?gu

Options :

(.33

(1.3.-3)

o |

(3.3.-1)

(3.3. 1)

Question Number : 61 Question Id : 1874633901 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If the line joimning the points A(2. 3. —1) and B(3. 5. —3) 1s perpendicular to the line joining
C(1.2.3)and D(3.v. 7). then v =

A(2.3.-1) 508050 B(3. 5. -3) Do oo Send) S8¢ B, C(1. 2. 3) Hdasw DB.v.7)

f"",

DooPoso Bend) 0¥ TS ©oadnr wod, edyd ¥ =

Options :

1
1.

12
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Question Number : 62 Question Id : 1874633902 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A plane 1s making mtercepts 2. 3. 4 on X. Y and Z-axes respectively. Another plane 1s
passing through the pomt (—1. 6. 2) and 1s perpendicular to the line joining the points
(1. 2. 3) and (2. 3. 4). Then angle between the two planes is

o8 d0o X. Y. Zogon SO 2, 3. 4 0088 porrod Dod. 288 dwo (-1.6. 2
Doy Kooa Dér, (1. 2. 3) 05w (-2. 3. 4) DoHHhos 90 TpsHh oo

&0 08. ﬁ.f:.-.")jc‘&: es Doy deodne 53(}35?590

Options :

G 90°
Cos™ 1—2-
61
Cos™} 1—1
61

3

1 |5
Cos ™. [=
4 6

Question Number : 63 Question Id : 1874633903 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

. x-2¥—x
If = lim and f=lim ————r—

then
x—0 1—cosx 1--)0,{1_'_1 ,f _1

: '\"21-_1' o o G .T':a — R
a = hm S000n B = lim BONB, VIPE
x—0 1—cosx x—0 ,l+ o {l— 2
Options :

R
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Question Number : 64 Question Id : 1874633904 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

It
vy
when v <0
¥
51'2 +a . wWhen0<x <1
Fog= .
-1
O| — . whenl<x<3
AT —3x+2
-14 . when x23

1s a continuous function on R. then (a. )=

X —|x
| | . x<0 o008
X
5x +a . 0€x<] wod
fo={,
e |
bl — . 1<x<3 ®ond
X" —3x+2
-14 . X233 0008

o3 oo R ©d$308, (a. b) =

Options :
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2
3
(2, 7)
4

Question Number : 65 Question Id : 1874633905 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The number of points in the interval (0. 2) at which f(x)= |.T - 0.5| + |.1' - 1| + tan x 1s not

differentiable 1s

0. 2) woddSwes*® EHdoho f(x)=|x—0.5|+|x—1|+tanx wSEodahin £ DodHo bopg
Options :

1.1

)

12

W)

Question Number : 66 Question Id : 1874633906 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
2

: = 011
If x=secf—cosf. y=sec'’f—cos'’ @ and (I" +4)(d—) = A’(J'z +4) .then k=
X

%
L ‘. dv )~ 7
x=secH—cosb. .1'=sec109—<:05109 S00 i (.1" +4)(d—1j = k(}" +4)
ke

. = T4 Y —
QoNB, IVE k=

Bt

Options :
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Question Number : 67 Question Id : 1874633907 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

)
If o= esm J‘." then. (1— ,'\'2 )]2 —_ 1:1-1 —

Question Number : 68 Question Id : 1874633908 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The semuvertical angle of a cone 1s 45°. If the height of the cone 1s 20.025 cm. then the
approximate value of its lateral surface area (in sq.cm) 1s

o8 o8P BwE), 08’0 45° & oY Bk, &y 20.025 0.0, ®oNd, T

P Fo ITogin (H.20.0.08°) Gravodm

Options :

1 4012 7
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Question Number : 69 Question Id : 1874633909 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The radius of a sphere increases at the rate of 0.04 cm/sec. The rate of increase n the
volume of that sphere with respect to its surface area. when its radius 1s 10 cm 1s

o8 A*¢o cfméar mg@agm 0.04 0.0/ 0ES0 30808 K0, o Jf*g:&'*g.ﬁ;o
10 Do.0. vk T GHdde ITogin STy NI80ErEES™ DHIDEL Tiw

Options :

1 l6m

(S ]
A

=

Lh

Question Number : 70 Question Id : 1874633910 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

I f(x)= nlog|1'| +bx” + x has extreme values at x = —1 and x = 2. then the ordered pair (a. b)=

Fex)= nlog|xl+bﬁ.’2 +x8, x =—1 500080 x =2 5 wody Jendenod, vivdh ES o (a.b)=

Options :

(2.-1)
1.

, &1.2)
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Question Number : 71 Question Id : 1874633911 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

If fx)= X+ pr‘j + gx 1s defined on [0. 2] such that £(0) =f(2) and f ’(

)=0.t11e11 gt =
3

£(0) = £(2) 50805 f’[ 1+%]:0 odgtn [0.2] B f(X) =+ px° + gx ASDSHS, wdydd pP+g’=

Options :
3
" 1
7 3
T
3
3
1
4

Question Number : 72 Question Id : 1874633912 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Ifx# _—3 then j 4 dx=
\E 2v% + 6\/5.1' +9
= 3
X 0B, j &=
xE 2x% + 6J_ T+9

Options :

” I:(‘\/-‘i'{"& 6102|\/_1+%‘

+C

fw%}

1[ J2x +3 - Glog(V2x +3)) + IH_;]

-
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\Ex + 3—6log(\/§x+3)+c
. ;

-log(ﬁ.rz +6+3/2x + 9) +c
4.

Question Number : 73 Question Id : 1874633913 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

dx =

% st

J- l—2" Sin 11‘+x
2
| S

Options :

gr. = 9
xSin lx+\}1—x“ +cC
. 2
Sin 11’+\11—x" +c

1

xSin" x4+ ¢

3.
or.—1_
xSin a
+C
2
1—x~
4

Question Number : 74 Question Id : 1874633914 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

v
é....l

If J..T‘,’ezxdr =—— f(x)+ ¢ then the sum of all the complex roots of f(x) =1 is

2x

e :
Imjezxdrz?f(x)+€ ©@u0d f(x) =1 3wg), o) m&;;m»w 0o

Options :
1
2
1.
3

12

collegedunia:

India’s largest Student Review Platform




2

Question Number : 75 Question Id : 1874633915 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

|si115.1: . cos°x dx =

Options

COs

-
-

6 x

60

sin® x

=

COosS X

Sin- X ,
—0(60054 X+ 3cos  x+ 1) +c

6

60

6

60

6

X . 3
—(651114 Y+ 3sm-x+ l)+c‘

(6::054 T+ jcr_zva.-2 1‘+1)+c

- . . |
(651114 Y+ 3sm-x+ 1)'!-(‘

Question Number : 76 Question Id : 1874633916 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

lim
7l —3oo

1
—+

n (n+1)  (n+2)

Options
3

f—
A

L]
()

L-2

-
-
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]

2

2
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Question Number : 77 Question Id : 1874633917 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

.
¢ llogx
j =—|dx =

X

e_l

Options :
ﬁ

5

1
9

N

|

Question Number : 78 Question Id : 1874633918 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The area (in square units) bounded by y = Tan"!x. y = Cot 'x and the Y-axis. is

—1 —1 v T & o ™ o v, o o q ;
y=Tan 'x. y=Cot x 500w Y-wfinod S02d3s (@rodo @), ITogo (HE5) cradys”)
Options

o
1 log 4
o 9
 log2
log, 3

- §

q
" log
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The order of the differential equation corresponding to the family of parabolas whose
axes are along the X-axis and whose foci are at the origin. 1s

X-wfo Joad wrrod, rododyd I§ TPhod HONS Jododdro Sutnowrds
@Eﬁsr‘bmﬁocﬁag oIS JECp0 GooE), HOBT00

Options :

, 4

L2

2

Question Number : 80 Question Id : 1874633920 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

/ 1.3 3
2 ¢ ,Tz
The general solution of the differential equation ' =x "_2 i :‘, 2{1 . where ¢ 1s an arbitrary function. 1s
: Ay
P
. 3 ot
Yy
2 —]
Po GRS Bhobin sonsiyd W =3 T+ 5| od estes shEnin Bo§, PTG FEI
o oA ¥
¢ —]
i %
Options :
2
¥
1¢ —2 =0
X
1.
2
3 B 4
@ 5 |=¢€
X
2,
1,2
2
2o _|=a?
"
3.
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Question Number : 81 Question Id : 1874633921 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A physical quantity obtained from the ratio of the coefficient of thermal conductivity to

‘ o sk . y {2 o)
the universal gravitational constant has a dimensional formula M2 1*° T2¢K9. then the

a+b
c+b

—d 1s

value of

a+b
c+b

FE o ’M:za [ 12K wond —d dend

2

|
12 | W

b | -
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A body starting from rest at t = 0 moves along a straight line with a constant acceleration.
At t=2 s, the body reverses its direction keeping the acceleration same. The body returns
to the 1nitial position at t = t,, then t; 1s

Foldn 1=0358 wb S0 QTS Dok 22050030 RTBTH0E" &8 QIO Srdos’
EoendHB. stodn t=2558 e I8P 85 HIN S;E0EHES SrdnHd o8 i¥wos”
Boiredod SOl t=1t3¢ 800 FOPTIE SYIH. wowB ) Iens

Options :

4s
1.

(4+2J2) s
i
, (2+2v2) s

4 (4+4\5)$

Question Number : 83 Question Id : 1874633923 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A thin uniform rod of length L is resting against a wall and the floor as shown in the figure.
Its lower end A 1s pulled towards left with a constant velocity “v’. Then the downward velocity
1" of the other end B when the rod makes an angle 0 with the floor is

3
L 359%) Sendd 2868 8§ HL0S" Srbd dFom Fdh sHbd &5d. 8§ D), w8
£S5 A V568 Sr508* JBESBYSE AT, @ £§ Jo8° 0’ Fadn TSR
BE&S 808 Sify 3KSw v
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Question Number : 84 Question Id : 1874633924 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Two boys conducted experiments on projectile motion with stopwatch and noted some
readings. As one boy throws a stone in air at some angle with the horizontal. the other boy
observes that after 4 s the stone 1s moving at an angle 30° to the horizontal and after another
2 s 1t 1s travelling horizontally. The magnitude of the initial velocity of the stone 1s

(Acceleration due to gravity = 10 ms™

s

QG wrend BBIE Jodoe 6P Addrdo (F3a5-Y) & BArmrer T3r §Q)
QeSO ST, w8 wreodd w8 TPl §82 JSroddod’ Fod §'wo Tl mOHS'S
QB0B, Bodd wrendd 4 s SHTE & Trow §82 SSrodbod’ 30° Fmo BT BO0ULT Q)
DOSH BEHR0 2 s SWTrd ©h 82 JNr0SIom WOOUE W) (HNI0TW. & Tron &9
R HOBree0

(28085 Sc8eodn = 10 ms™)

Options :

‘40\/3 ms ™
1.

120\/5 ms ™

]

+10\/§ ms ™
SO\G ms ™

Question Number : 85 Question Id : 1874633925 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

gcollegeduniaa

—



A force of P(Z .61 +1.6 J)N acts on a body of mass 2 kg. If the velocity of the body at time

t=01s .(3_6;: —4.8 /) ms™', the time at which the body will just have a velocity along
X - axis only 1s

2 kg ($550°8 Ko o8 SRHD (2.6 +1.6 /)N 200 5 BosnHHd. t =0 HHaboS
5509 Ko (3.6 —4.8 ) ms™! @ond, & 5P IKo TSwo X -wfo HIS* D dHohos*
&0l 0h.

Options :

1.15

L2
9
un

3s

6s
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Single Line Question Option : No Option Orientation : Vertical

The force required to move a body up a rough inclined plane is double the force required to

prevent the body from sliding down the plane. If the angle of inclination of the plane 1s 60°.
then the coefficient of friction 1s

2.8 KOO8 Trendoldinm el 550Y) BodH FERE GodaE 8 SHoRd ol o8 W8

20PLH BPoH wodn FIBH. s Twdodn BwE) Tes'wo 60° wond, ©
P SV TS NG cﬁ:oéz, ‘Jw{m D8R0

Options :

1
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1
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2,
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Question Number : 87 Question Id : 1874633927 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

A particle moves in the X-Y plane under the action of a force

— ==

- X . v

F=K i+ — 7 | where K is a constant. Work done by the force when

3 3
(417 (4

the particle moves from (0. @) to (a. 0) along a circular path of radius ‘@’ about the origin 1s

-

X

X-Y dodns® o o8 Sl 200 F=K

_(1‘3 +_1':")j

-1 §

(.1'2 - .1*2)

[ [

J

IVToLISe S

©d FON0B. K‘{gdcrﬂ-‘.?. oo (0. a) S00d (a.0) 8 Sore Doy 8o ‘a’ wg@gm
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A disc of mass 100 gram slides down from rest on an inclined plane of 30° and comes to

rest after travelling a distance of 1 m along the horizontal plane. If the coefficient of friction
1s 0.2 for both inclined and horizontal planes. then the work done by the frictional force

over the whole journey. approximately. 1s
(Acceleration due to gravity = 10 ms™)

100 (S0 (@Sg078 Ho w8 O 30° Trevf'mo o o oo 5)0*’:33%6 008 068 270
§6u JArosdswo Jowd 1 mdrdo (@oirsol ATWRES JHON0. JTror Hiddw
§623507088 dore ode Hwsten 0.2 ©od Ingo (HDoSrerrd8 Sode woo 28LS B
0 IS0

(o808 Sc80dn = 10 ms™)
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Two 1dentical discs are moving with the same kinetic energy. One rolls and the other slides.
The ratio of their speeds 1s

Body SdSrS DFen o8 oz ¥86&° SOJgTH00. 00t 2,683 L& &G0l NTEH
HEr G0b. wowd. T8 o NS
Options :
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A tangential force ‘F’ acts at the top of a thin spherical shell of mass ‘m’ and Radius ‘R’. The
acceleration of the shell if it rolls without slipping 1s

( f= rolling friction)

‘R agrgioo, ‘m’ (855078 fio ef S00dld Aesd 860ow (Sw ATEH0) sdddoo
F’ 200 500y 63" PAriolabIs. A'¢o dhom Sy e o BuE),
800890

(f=8%% o)
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A simple pendulum is placed inside a lift. which 1s moving with a uniform acceleration. If

the time periods of the pendulum while the lift 1s moving upwards and downwards are 1n the
ratio 1:2. then the acceleration of the lift is

(Acceleration due to gravity = 10 ms™)

&8 OPNG OEN JDNSCRINSG” BHdN) 998" Gord. O D8 HOSH Fobs
SORHIYD T wiGS sorew 1:2 JQ8S* ¢0B, & O &b
(Hodo8s s = 10 ms™)
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Two bodies each of mass ‘m’ are hung from a balance whose scale pans differ in a vertical
height by h. If the mean density of the earth 1s p. the error in weighing is

2858 ‘m’ |$Hg08 o ol SANIJo af (@0 Dok Rordbohad S, L@“”m'fazrw
PO DY VY K h P JwE, Siw FoEs p ©oNd Y Fods’ §ho
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A one metre steel wire of negligible mass and area of cross-section 0.01 em? is kept on a
smooth horizontal table with one end fixed. A ball of mass 1 kg 1s attached to the other end.
The ball and the wire are rotating with an angular velocity of ®. If the elongation of the wire

1s 2 mm. then ® 1s
(Young’s modulus of steel =2 » 10! Nm2)

0.01 em® SoggEes Frrogo Ko, BOBS w8 Wt &y, S &8 DBE ©0BoD &8 S¥s
§8z Jrodl R GOTW. © &K &8 5% 1kg BR50"8 o 28 208U SIS, 2od
0w 84 o Fdad IMos Wwmo FodwHayow. 85 FHde 2 mm wond

M Qe

(&8, o%ofi Koo =2 x 10" Nm)

Options :
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10 rad s}
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A cylindrical tank has a hole of area 2 cm? at its bottom. If water is poured into the tank
from a tube above it at the rate of 100 cm?® s, then the maximum height upto which water
can rise in the tank 1s

(Acceleration due to gravity = 10 ms™)

28 SpPred §8 edi eiSnd 2 om’ 3Togo fo e So@sn Sui. Apds s PS8

D 2008 af AYLSw oo 100 cm? s TES AN I, FYS' T3 B K0 IR
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The densities of wood and benzene at 0 °C are 880 kg m™ and 900 kg m™ respectively. The
coefficient of volume expansion is 1.2+ 107 °C~! for wood and 1.5x 107> °C~! for benzene.

Then the temperature at which a piece of wood just sinks i benzene 1s

0 °C 5& BE), $o8050 BodS AwE), FoGdes SHdm 880 kg m™ Hdasn 900 kg m™.
8508 T7g8'S HomEo B 1.2x107 °C7 Hodasn BodSse 1.5x107 °CL

B, S008), BodRS® DM Sodh GodiOR Sl

Options :
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A window used to thermally insulate a room from outside consists of two parallel glass

sheets each of area 2.6 m? and thickness 1 cm separated by 5 cm thick stagnant air. In the
steady state. the room-glass interface 1s at 18 °C and the glass-outdoor interface is at

—2 °C. If the thermal conductivities of glass and air are respectively 0.8 WmK~! and
0.08 WmK!, the rate of flow of heat through the window is

5 cm S0085500 FONS JOEBS MOE [ Fobwds w858 2.6 m* JTeogo Hdako 1cm
0650 EOAS Bodd HXrodY mer HooB SoSrsHBohasS 83k &8 E by Sod
&3 Do¢¥o Dot TENEIE. JOEE JOS®, Kb-mar ©od5 Sosn 18 °C 5¢ $1005w
mer-oddy PRYe @odd dodn -2 °C A o). mer N0BL M &y TITEITAL
S85m 0.8 Wm K™ 58050 0.08 Wm'K ! wond, 8838 oo a2t eydad 3w

Options :
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, SOW

Question Number : 97 Question Id : 1874633937 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Five moles of Hydrogen gas mitially at STP 1s compressed adiabatically so that its
temperature becomes 673 K. The increase in internal energy of the gas 1s

(R = 8.3 Jmol'K". ¥ = 1.4 for diatomic gas)

Food STP 3¢ &&) 5 3rd) T@ac Tadod R0E8 @k ogo o aid
673 K odgiitn Sobddo Bek. wans & aing woddE §88* whibde
(R=8.3 Jmol"' K™, &c585re08 arasndso y =1.4)
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One mole of a monatomic 1deal gas undergoes the process A — B in the given P-V diagram.
Specific heat capacity in the process 1s

a8 Jrd uvdd) 8 JESTeE oS P-V HL0e6° Srnd o A 2 B (B8R

S, PEHS” Seoord DIPY Boggsn

N
rd
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If the speed of sound in a mixture of 2 moles of Helium and 2 moles of Hydrogen at

. |
temperature 3 K isn % 100 ms™.. then the value of n is

.. o5 P
('l"akeRz?Jmol W

972

5 K SIS S8 2 oo 00 DO 2 Irdo TG =D Ko Do &0 o

-

n > 100 ms?wond n Jend

. 28 s
(RzTJmol K ' 8308505n)

Options :

1.9

10
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90
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A siren placed at a railway platform is emitting a sound of frequency 5 kHz. A passenger
sitting in a moving train ‘A’ records the frequency of the siren as 5.5 kHz. During his retum
journey by train ‘B he records the frequency of the siren as 6 kHz. The ratio of the speed
of train B to that of train A 1s

28 D0 PEF0 D GoddS w8 PO 5 KHz »J:9Sgo do &0 Jenddowod. ‘A’ el
EE000thN) Seud™ el (Doirdiod e e FIRTgR) 5.5 kHz m hfoard. wdl
SHDPREr00S5” ‘B’ el 078 Beod® SinySyd ©f RIS Fd:yagd) 6 kHzmr hord.
©ond Yoo B Hobdin T A dde I8
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The speed of a transverse wave travelling in a wire of length 50 cm. cross-sectional
area lmm? and mass 5 g is 80 ms™.. The Young's modulus of the material of the wire is
4>101 Nm—=. The extension in the length of the wire is

50 cm X&), lnnuzﬁsdgat;jcﬁ ITogo 0ciw 5 g |BI50°2 o el ShS" Rairdod 8558
$80558 80 ms™, & Sa°g 030f Koee¥sn 4x10" Nm™~ wond, e 88 >EHS* yiHde

Options :
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8 x 10*m
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16 x 10 m

16 x 10~*m
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An object is fixed at the bottom of a vessel and water 1s filled in the vessel upto a height of
10 cm. A plane murror is placed at a height of 7 cm from the surface of water in such a way
that 1ts reflecting surface faces the water. The distance of the image from the mirror 1s

(Refractive index of water = 1.33)

a8 DS BN w8 SNIYD 988D FIBS' 10 cm I SEEr ABI JoFrd. el SDde
SyeaQ) 8 00800 F00d 7 cm IS DTSPESe0 AT Y GoBn w8, o
Wos [RADoETIO

(D& SEFSS KoeodSn = 1.33)
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The angular deviation of 5 order dark fringe is 12° in a single slit experiment. If the width
of the slit is 9 um then the wavelength of the incident light is

wold D5 PArHos® 55 Eo DY HE Fdoh oo 12° DO¥ ey 9 pm wond
VSN 508 eﬁéuﬁ@_%m
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Three infinitely long charged sheets are placed as shown in the figure. The electric force
acting on a charge —¢ placed at the pomnt P 1s

(0 - surface charge density. € - permuttivity of free space)

oS08 FEJHie 6¥ ITTES Swrd Jofodh JSLINS' Srod IFor vldhTh.

P’ Dot 5§ oS —g sSdo D HIVosn IS weo

o z=2a
-20 =i z=a
_____ S ol R

e z=-a
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Assertion (A) : Half of the charge of an electron does not exist.
Reason (R): Electric charge i1s quantized.

APso (A):  Jogs us3dos® o SgRupdo .
5800 (R):  dSogmrddo 5°00d3s8nss.
Options :
Both (A) and (R) are correct and (R) 1s the correct explanation of (A).
(A) 28c5n (R) o0 Bodor H0G08 H00ciw (R) @38 (A) & S08308 e
1.
Both (A) and (B) are correct but (R) 1s not the correct explanation of (A).
_ (A) D0csn (R) o0 DBodsr S80I 5°Q (R) @38 (A) 8§ 508308 &0 520

(A) 1s correct but (R) 1s not correct.

(A) 365058 59 (R) $0630858 52
3

(A) 1s not correct but (R) 1s correct.

(A) 5863058 = 50 (R) H0&058
4.
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The potential difference between two points A(2. 1. 0)m and B(0. 2. 4)m in an electric field

(xi =2y j+zk) V™ is

0w DogS B0 (xi—2yj+zk) V™ & Bods DodoHeo A2, 1. 0)m H005%
B(0. 2. 4)m o &g FBIché Fdo
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Three point charges of 3 uC. 4 uC and 5 uC are arranged at the three comers of a right

angled triangle ABC as shown i the figure. The work done in moving the charges at Aand C
so that the three charges are located at the three comers of an equilateral triangle of side

3cmis

3 UC, 4 uC 500050 5 UC ush7en $OAN Jooth Do wITew JHLoeS® Wrhd Jom a8
vos'n Bhao ABC Sord 200 5¢ S0l. & Sord edTod 3 cmghao fo ob

QerTo@Lhao T $§ GoBbin ABddn CiE fo sdroh §daytit BabIoS

o0 &
4uC
A
4cm
SucC
B Ll C
3].1C 3cm
Options :
0317
Y3
223
3
3:3:J
4

Question Number : 108 Question Id : 1874633948 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

gcollegeduniaa

el



Four resistors A. B. C and D form a Wheatstone bridge as shown in the figure. The bridge is
balanced when C =100 L. If A and B are interchanged. the bridge balances for C =121 Q.
The value of D 1s

DLoS* Erud o Teuid JAFTen A, B. C H0ctn D o8 I6FS OF 26)856.
C =100 Q &S5dydo DG Sodeoso Bodod. AB e H¥o Srdysyd C=121 Q5
B§ Sodoso Bosdd, D Jend

—li=
E

Options :

10 Q
l.

100 Q
3 110 Q

120 Q
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In the circuit shown, 1f the current through the resistor R 1s 5 A. the value of R 1s

-

A wond. R dend

Bod Srud JS0chod” JTFESN Ribom Jdgd @arsdro

sV20) —— gg == awr il
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An electron accelerated through a potential difference *V’. passes through a uniform
transverse magnetic field and experiences a force ‘F’. If the accelerating potential 1s
increased to *2V". the electron in the same magnetic field will experience a force

V' B E Bdo o &edmo BobS a8 Jogsh 2808 8558 wahban.od o hoa
Podreddr ‘F aords 67308, $id0o §0M0T 2BICHED 2V’ % o008, ©f edid)od
S80S" JoEgeR VTR oo
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A coil in the shape of an equilateral triangle of side 2 cm 1s suspended from a vertex such

that 1t hangs in a vertical plane between the poles of a permanent magnet producing a
horizontal magnetic field of 100<10~3 tesla. The magnetic field is parallel to the plane of

the coil. For the moment of couple acting on the coil to be 2/3 %107 Nm- the current to

be passed through the coil 1s

100x1073 tesla 88z 557088 eahamosidoss §005S) ot TiE wabdodo B,
SHTo Dy 2 cmPhofio wf Srdv @IerEBS” o ol LD ot 3o Hob Eoe
LoRdL0S" GoBbity Bordldrd. wobhdodg@o, the S8 Jdroddor &ob.
D STabrs) pockniyerSHEo 2431070 Nm st $b6* SosSens dkgs
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A metal rod 1s subjected to cycles of magnetisation at the rate of 42 Hz. Density of the
metal is 6 10° kgm™ and its specific heat capacity is 0.1x1073 cal kg~1°C~L. If the area of
its B-H loop corresponds to energy density of 1072 Jm™, then the rise in its temperature in
one minute 1s

af S*TPEG 42 Hz 3end @0 odoh SIES0ssh S'Hhosadsd. &' s
6x10° kgm™ 50050 & D3R Fodgo 0.1x107 calkg™'°C. §§ Gwg), B-HSEITog0
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A coil 1s placed in a time varying magnetic field. The power dissipated due to current induced

in the coil is Py. If the number of turns 1s doubled and radius of the wire 1s halved. the power
dissipated 1s P,. Then P, : P, 1s

08 SriHLH 57008 $30 wohA 08 FEMNS® GoTrd. KHLS® IS P (Wi
S0d dagggosotoonss dHoggo Pr. & SHHLS" Sody Sopgd BLPoP B, 8 argrgodo
S0 BOSYAE, BodggasSons &S Fogso Pywand Py : P, =

Options :
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If the emf of an ac source 1s given by 6 sin ®f + 4 sin 27 volt then the r.m.s. value of the
emf 1s

2§ ac 25%0 emf Dewddo 6 sin @ + 4 sin 207 S'eenm RYTER. wod « emf JwE)

r.10.S. DeD

Options :
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A lamp delivers a luminous flux of 100 W to an absorber of area 1 cm”. The force due to
radiation pressure 1s

1 cm’ ITogo fo w8 Fa5°08 ol G0 100 W08 @'l 25008, wond & 88w
2ES0 Hod EONS weo
Options :

; 33x10°*N

16.5 x 10’ N

12
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An electron of charge ‘e’ and mass “/7° moving with an mitial velocity vy 1s subjected to

an electric field E, j . The de-Broglie wavelength of the electron at a time ‘7" is

(Initial de-Broglie wavelength of the electron = Ag)

vy EOIH08* BArBRT) ‘@ wBo D%y M’ SSgoR fo wf JogHs E,j
gs e HOBTH. I soin 5§ JoE Grrol SBonBY s
(Qogts &0 Srdd 808850 = A
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Match the following List-I with List-II in connection with Bohr’s atomic model
&6 IS0 ST sgrdon =de” -1 hee - 11 & 28585048,

List-1

e -1

A) Speed of revolution of electron

JOETe 0 &

B) Kinetic energy

KO 98

C) Total energy
Swdo €8

D) Frequency

TGO

The correct answer 1s

;66@3;6 PSINS T BB b

I)

1 Y 2

1
= {47! Eu] n’h?

: o
) [ 1 ] An’z%e*m
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rdee -11
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1 21 ze”
4r €y nh
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Half-life of a radioactive substance 1s 18 minutes. The time interval between its 20% decay

and 80% decay in minutes is

w8 35’9@?5’5%§ 5&“5}0 @Eﬁ&e‘é 500 18 e, @b 20% 00050 80% SobSoroboi

‘.—f::éﬁs*e:“u f)g@'-gzéu Jaared®
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20 100

In a transistor. the value of ‘0" varies between 21 and ToL" Then the value of ‘B’ varies
between

‘ 20 100 ‘
a8 ErdRs ooE), ‘o Dewnd 5 3000500 101 © S0y Srdiditoand, P’ Iend &

Bob 38 B8y Srcs08.

Options :

land 10
; 1 300050 10

0.95 and 0.99
0.95 S0asn 0.99
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20 and 100
20 308050 100

200 and 300
200 S08c5w 300
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1000

ATV tower has a height of 5 m i a region of population density —— per square kilometer.
/4

Number of people that can receive the transmission 1s nearly (in thousands)

28 PSS S863 865 et 20 Ko SBESNS'D o TV 036 & 5m. 6o
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Options :
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The energy associated with Bohr’s orbit in the hydrogen atom is given by the expression.

¥30 : : : : . . : .
E, =———=—eV . The energy in eV associated with the orbit having a radius 97 is (7 is the
n-

radius of the first orbit)

13.6
TERS SEEre0PSt §°6 §§5 &), 98I, E, =———-eV o3 5086008° SroBEk.

o n 2
]

Ory (1) = B0ES 88 Bwg, Tgdgo) Tg>Yo Ko §Eg Bk, 9§ eV o’

—io
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When a certain metal was uradiated with light of frequency 4.0 x 10%7 . the photoelectrons
emitted had four times the kinetic energy as the kinetic energy of photoelectrons emitted
when the same metal was irradiated with light of frequency 2.0 » 10, The threshold
frequency (v,) of the metal in sis

4.0 x 10'%™ 2S5:9Sg0i0 08D wf JhWE T D B RHFLSHYE Jeosd
Fo8loESe K898, 2.0 x 10"%™ 2S:YSgotio 508 wBS T D (HTIBBDSHYE
F0SB To8IOFR B8=TE 508 Trenid Bl G0, s o BwE) wdod F:YSgo
(Vg) s ot

Options :

; 2 x 1016

4 x 106

13

254 10"

Ll

1.33 x 106
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Which of the following statements are correct for classification of elements?

I)  The properties of elements are periodic functions of their atomic numbers

II) Non metallic elements are less in number than the metallic elements

IMT) The first ionisation energies of elements along a period do not vary n a regular manner
IV) The ground state electronic configuration of Pd (Z = 46) is [Kr]4d®5s’

Sorore 5655 Bods Bod voTod® S0 ID?

) Swrose $omen T8 S8 Sopgo siES (HR0airenr &odoi

) &S Srosw, & Sroste 508 S50 Jopgs” Godid

) o8 20aH&6es* Sorosre PHESH ©cHIEsD 8w s Léfna’acé@@* A8y BOLY)
IV) Pd(Z=46) rp8 Jogs dagdo [Kridd'ss®

Options :

| LILOLIV

, LILIIMonly
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I1. 1. IV only
3

) LILIV only

Question Number : 124 Question Id : 1874633964 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The changes in bond length with respect to N-N and O-O. when N, becomes N3 and O,

becomes QOF are respectively

N,, N} O,, 0f o 8r6006* N-N, 0-O 0o Buge Srdaes S68m

Options :
imcreases, decreases

D, S

—_—
-
-

decreases. increases

B850, DS

=

INCreases. 1NCreases

RN, REHDD

decreases. decreases
15380, Sifaido

Question Number : 125 Question Id : 1874633965 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arrange the following species in the increasing order of lone pairs of electrons

808 o, wobld JoFg 2obo JSopgew 200 oSt

(a) CO

Options :

@<®<©@<

(b) NO;

(c) NEF;

@fnd&u&

d Co7’

-

el
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’ (b) <(c) <(a)<(d)
, (c)<(a)<(d)<(b)

) (@)<(®)<(d)<(c)

Question Number : 126 Question Id : 1874633966 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The ratio between RMS velocities of H, at 50 K and O, at 800 K 1s

SOK 5& H,, 800K 5& 0, © RMS 3re Hig 948

Options :

41
1.

o
[—

12

Question Number : 127 Question Id : 1874633967 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

On reduction with hydrogen. 3.6g of an oxide of metal (M) left 3.2g of the metal. If the
atomic weight of the metal is 64, the formula of the oxide is

3.6g 55 6365 TERSE §assno BSSE 3.2g0 %0 RSB, & &0 (M)
S, JHTSrengrdo 64 vowd uB1E JwE), Loy
Options :
1 M,0;
M,0
MO
3.
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MO,
4 2

Question Number : 128 Question Id : 1874633968 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

At 300K. the equilibrium constant for a reaction 1s 10. The standard free energy change
(in kJ 11101”1) for the reaction 1s

300K 5¢§ 2.8 585 Bwg SH0es orosdn 10. & $Tg B0y, & wea) 8 Soddy
[ e & O J - W -2 o/
(kJ mol ™ ©&*)

Options :
—57.4

12
I

Question Number : 129 Question Id : 1874633969 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

collegedunia:

India’s largest Student Review Platform




Observe the following equations

.NH3 +Ag" =[Ag(NH;)|". K, =1.6x10’

[Ag(NH;) [ +NH; =[ Ag(NH;), | . K, =6.8x10°
The equilibrium constant for the following reaction.

.AgJ’ +2NH; = [Ag(NH3 ), T is

Bod JSbEGmron H0O0WBN

NH; +Ag" = Ag(NH;)|". K;=1.6x10’

[Ag(NH; )| +NH; =[ Ag(NH;), | . K, =6.8x10°

Options :

6.008 » 10°

1.088 x 10’

-2

1.088 » 10°

1.028 x 10°
4,

Question Number : 130 Question Id : 1874633970 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A bufter solution 1s prepared by mixing 10 mL of 1.0 M acetic acid and 20 mL of 0.5 M

sodium acetate and then diluted to 100 mL with distilled water. The pH of the buffer solution
1s (pK, of acetic acid 1s 4.76)

10mL © 1.0 M J08§ esio Hocin 20 mL © 0.5 M &F&cho J08ES §8D Saird
BoDwdS 236 Tdpod 100 mL ofH Ed s00d® JOSo TVS, & 236 @S0
PH dend (08§ esdoo pK, Jend 4.76):

collegedunia
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Question Number : 131 Question Id : 1874633971 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identify the correct statements from the following
I) B,Hg1s an electron deficient hydride

II) NH; 1s an electron rich hydride

II) NaH 1s a covalent hydride

IV) YDH, s; 1s an interstitial hydride

o

Bod ASTpeS” S0 TEI Hfodo
) BHsdogw Sogdd fo
) NH;doge whsor do @6
IIl) NaH&3808 @&

I\') Y'ijﬁﬁ "G"&ué&"*‘}' ?@5

Options :

. LILIO

OIOLIV

12

LILIV

LIOLIV

Question Number : 132 Question Id : 1874633972 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
gcollegedumaa
India’s largest Student Review Platform

el



Compound A 1s prepared by the electrolysis of aqueous solution of B using Castner-Kellner
cell with mercury as cathode and carbon as anode. A and B respectively are

5R80-30)0 HoLod' &0 3%, she sSBhod GOArHod Beld 2o @S0l
Q&g&ﬁfamu B0 A SairHBdH. Adcin Beo SHdm

Options :

1 NaOH. NaCl

NaCl. NaOH

-2

NaHCO,. NaOH
, Na,CO; NH,

Question Number : 133 Question Id : 1874633973 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In the following reactions

B,H4 + NH;(excess) —S X+ H,

NaH + BF, —2% 5 Y + NaF

X.Y and Z are respectively.

Bod Sdgee”

B,H + NH;(e8%0m) —— X + H,
NaH + B, —22 5 Y + NaF

B,Hs + H,0 — Z+H,

X, Y S080d0 Z oo 83

Options :

~ ByH. LiBH,. H;BO;

gcollegeduniaa
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B,N,H,. B,H,. H,BO,

-3

(BN),. LiBH,. HBO,

B,H,. B,H,. HBO,

Question Number : 134 Question Id : 1874633974 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Consider the following statements

I) Indiamond. each carbon atom is sp® hybridised

I) Graphite has planar hexagonal layers of carbon atoms

IT) Silicones being surrounded by non polar alkyl groups are water repelling in nature
IV) The order of catenation in group 14 elements 1s S1 > C > Sn > Ge > Pb

Bod AdBwoD H0O0H0E

oJ

) BS0ES" H8 T6S HFSre0y sp’ HogbEdmo Tododod

) psS sdhe JoSrawe Shde JT)n i G0l

) o@s «8)d SSorFfod sidodud &) VOFIw 2o I8 Scprdod A
€5 000

IV) (9 14 Sorosrod® 52l S80S o, S1>C>8Sn>Ge>Pb

The correct statements are

500 JSSen

Options :

LILIO

OIOLIV

!-J

LILIV

, LIOLIV

Question Number : 135 Question Id : 1874633975 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
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Which one of the following statements 1s not correct?

Bod JBoS* I8 HOGIE TE?

Options :

NO» 1s a lung 1rritant

NO, #0008 e 1KBEHEES0 (urritant)

The municipal sewage has BOD value of 100 - 4000 ppm
YEFoE S08iH0ed BOD dens 100 - 4000 ppm

]

Main source of CO 1s automobile exhaust fumes

i BBE © Hod JIwwsB FrainHos CO & Sowg &8 PSS

COD 1s the measure of bacteria in water

COD Q8&* 08 wrfddird Sodorso

Question Number : 136 Question Id : 1874633976 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The stability order of the following resonance structures 1s

Bod TEIN) ATYTre RIER00

:l(l):
) CH,=CH-C-H
| G
P l
o) CH,-CH=C-H
@
A @ J
S, |

m :CH,—-CH=C-H

Options :
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Ni<II<I

I1>1>1I

12

O<I<II

I1>TI>1

Question Number : 137 Question Id : 1874633977 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

. -dNI-I ,
C=C-CH, @& °

The product formed in the above reaction 1s

BRI :Dd:}ﬁ €& B)%5)500

Options :

O\CEC—CH3

1.
@\ CH
H H
O\ H
/C:Ci
H CH,
3
"
~c=c_
H CH,
4

[ ]
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Question Number : 138 Question Id : 1874633978 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The correct order of reactivity of the following compounds. towards electrophilic
substitution reactions 1s

QOIETHOE KHERI Ulgw B Bobd IFTre Porglode HOGS o

CH, OH NO,

0oQ Q0 ©Q Qg

Options :

| (a)>(b) > (c) > (d)

(d) > (c) > (b) > (a)

L-2

(c)>(b)>(a)>(d)

, ©)>C)>@>(d)

Question Number : 139 Question Id : 1874633979 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which one of the following statements 1s not correct?

Bod 0TS JHOFDIE TUE A6?

Options :
Schottky defect in 1onic solids does not change the density of the crystal

©ErIE PIVo TS T SHo K38 BwE) Foss Srdy Bobd
1.

Packing efficiency 1s the percentage of total space filled by the particles
georo VS JodwdS Ingo WBY Tad) Brdd) FHPgo ©oloS

7
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In body centered cubic unitcell. the relationship between atomic radius () and the

edge length (a) 1s. r=§a

©od: SoBE NI rdS WS JoTYoS” HEBreR Fgrgo (1) Sobosn wod

NE

FEY (a) Py Sowodo, J"=T

Photovoltaic cell 1s used for conversion of light energy into electrical energy

508 ¥80 DogS BT Srdns FE Ferons HwoH SHIrARE

Question Number : 140 Question Id : 1874633980 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

1.2 mL of acetic acid having density 1.06 gcm'3 1s dissolved m 1 litre of water. The depression
n freezing point observed for this concentration of acid was 0.041°C. The van't Hoff factor
of the acid 1s (K;of water = 1.86 K kgmol'1)

1.06 gem™ oi@d Ko 1.2 mL IHESE so 1H0E BS* §8NoSnaS. & 6B mESH
5830005 LSS S kyd 0.041°C. esSo B, ToSHH Hwbo (M ook,
K;=1.86 K kgmol ™)

Options :

1 0.41

1.04

12

0.96

s 1.54

Question Number : 141 Question Id : 1874633981 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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100 mL of 1.5% (w/v) solution of urea is found to have an osmotic pressure of 6.0 atm and
100 mL of 3.42% (w/v) solution of cane sugar 1s found to have an osmotic pressure of
2.4 atm. If the two solutions are mixed. the osmotic pressure of the resulting solution in

atm 1s
(Assume that there 1s no reaction between urea and cane sugar)

100 mL & 1.5% (W/v) chrboir [@Snosk G $80 HéSo 6.0 atm 5085 100 mLe
3.42% (W/v) H030°8 (@ S0ost BTdddm HESo 2.4 atm 5. Dok THT 08
ODSIYE DEYBS $08 T IPo AnY, BTHIBe HiSo atm oe*

(G5orBosr S0Bckn HoSTEL Hody Sy REHE B BHEHBED)
Options :

,

16.8

L-J

4.2

Question Number : 142 Question Id : 1874633982 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The emf of the following cell
Mg | Mg™(0.01M) || Sn™ (0.1M) | Sn at 298K in “V" is

(Given. E:{gﬂ =-2.34V, E¢ . =-0.14V)

Mg

298K ¢, Mg |Mg™(0.01M) | | Sn™ (0.1M) | Sn &3 ot @w&), emfdend V' o*

(E? =-2.34V, Eg v
n |

it =014V > asgas)

S

Options :
2.1
B

L3
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Question Number : 143 Question Id : 1874633983 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The reaction X — products is a first order reaction. In 40 minutes. the concentration of
X changes from 1.0M to 0.25M. What 1s the initial rate of reaction when [X] = 0.1M?
(log 4 = 0.60)

X > @oiraTgen, of HEDH E5ros S5 40 ddoTes® X @), mEs 1.0M $08
0.25M > Svéoy oo, [X] = 0.1M sonsdyd, o $So°gdn Jod? (log 4 =0.60)

Options :
: 1.73 % 10~ mol L™! min™

3.47 % 10 mol L} min™

12

1.73 x 10 mol L™ min™

3.45 x 10~ mol L™ min™

Question Number : 144 Question Id : 1874633984 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following statements is not correct?

808 woTod* & J0FIE TE?
Options :
Both physical and chemical adsorptions are exothermic

T RE. S>oS @hTAsoren Bodor f‘s‘-‘g JorisTen
1.

Physical adsorption takes place with decrease of free energy whereas chemical
adsorption occurs with increase of free energy

T8E ohHTinces® '?JSLT:J-Eg SHF0 5 TS (IIATIE> 1N _5’35‘521 38 DD

2.
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Physical adsorption requires low activation energy but chemical adsorption requires
high activation energy

TS ©HTR0SH S59% VLS ¥§ Ho005D FFADS ©HTRDOSH wiE B2
38 ©5DEB5KB

The magnitude of chemical adsorption increases and that of physical adsorption
decreases with rise in temperature

&AES DOASHYE EPADS ©OHTEE0 HOEF@O DEHD, TEE ©HITE00 HOST00
TS

Question Number : 145 Question Id : 1874633985 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which one of the following statements 1s not correct?

808 dSCpOS® B HOTSE T&?

Options :
Van Arkel method 1s used for refining of Zirconium

TR 60 S 2GS o 25 Qoo DY Do KB

Mond process 1s used for refining of Nickel
5708 HE8 weor VBEK HY BB

[

Zone refining 1s based on the principle that the impurities are more soluble n the
melt than in the solid state of the metal

DOT e 3’;3.5%@6“ ﬁélé“é“ué‘ 08 Hod ?{?}@6‘ &odeS roes® Q8.5 80A
GOLIroND VD0 S Dode TS0 ;':acéé’a STIIE G oo

High melting metals are refined by liquation.
R BAPSS Fdofeo THTod fodE ) o oo HE TSk

Question Number : 146 Question Id : 1874633986 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
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Assertion (A) : P,O,, cannot be used to remove moisture from ammonia gas
Reason(R):  P,O,,reacts with NH; gas

2980 (A):  eBMAcEr THERISD DS Sotomss PO, H SRErA0HE
570200 (R) : NH3 J"O:SQJ;&) & P4010 6(55 0 08D

The correct answer 1s

SOGHS BErTHEN

Options :
Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
(A) 50050 (R) &0 Bodr H0G03D 510050 (R) 638 (A) S $06308 S8

Both (A) and (R) are correct and (R) 1s not the correct explanation of (A)
(A) 20o® (R) o0 Bodor H063050 wowd (R) w38 (A) 8 080 e s

]

(A) 1s correct but (R) 1s not correct

(A) 50658 52 (R) H05058 5%

(A) 1s not correct but (R) 1s correct

(A) 5663058 5% 59 (R) $85058
4

Question Number : 147 Question Id : 1874633987 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which one of the following reactions does not occur?

Bod Sgos” & ahHi?

Options :

Cl, +2Br~ — Br, +2C1I
1.

CIF; + H,O0 — HC1+ HOF + F,

N

collegedunia
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Cold & Dil 2NaOH +Cl, — NaCl+ NaOCl+H,0

Jod & O
g e

Na,SO; + 2HC1 — 2NaCl +S0, + H,0
4

Question Number : 148 Question Id : 1874633988 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which one of the following statements regarding helium is not correct?

TOAS0K H0208008 0 IS B SOOI TE?

Options :
It 1s used to fill gas balloons mstead of hydrogen because 1t 1s lighter and not flammable
2 0B Jggrdo B BIBS Troiny whHblesd TG e Sarse
QOXT A8 GIBrhodud.

It 1s used 1n gas cooled nuclear reactors

A THENIHoB TodT JTSr BodE SuirEds” GIRrNTE

L2

It 1s used to produce and sustain powerful super conducting magnets

55 O 080 2OFP WETTE ©oLI) ocre &&)E TV JEoTT IS GHA;HAD

It 1s not used as a cryogenic agent

BV EBor=dS %o GIRTrNoHE

Question Number : 149 Question Id : 1874633989 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which one of the following coordination complexes exhibits the lowest value of magnetic
moment (in B.M.)?

Bod Do JopS” 08 S5 wdhdod ERER) (B.M. o) HaE8)owhdd
Q6?

Options :
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| [Cl'(CN)6T3

[Mn(CN)g]™

-2

3 [FE(CN)ﬁ]_ .

[Co(CN)(]”

Question Number : 150 Question Id : 1874633990 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

. . . ' P Sy -
Disproportionation products of one mole of MnO}~ in aqueous acidic medmum are

e E _n . " "
28 3r8 MnOj~ 83 20[0°H008" J6E VINTS &S T

Op!‘.iﬂns: _
1 ~ 2 -
3 mole of MnOyj . 3 mole of MnO,
1
2 - 1 ~
3 mole of MnOj . 3 mole of MnO,
.y | i )
3 mole of Mn,O; . 3 mole of MnO,
. .
' | ' |
— mole of Mn,O; . 3 mole of MnO,
3 3
4

Question Number : 151 Question Id : 1874633991 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Match the following
List-1 List-1I

A) {-NH-(CHQ )5 —M'I-CD-(CHZ)4 -Cot I) Ethylene glycol and Terephthalic acid
B) -(—C O—(CH, )5 —NH t II) Phenol and formaldehyde

C) ;EC F, —CF, —); IIT) Caprolactam

D) {0 —~CH, —-CH, -00C _@_ CO} V) He_xgmethylene diamine and
” adipic acid
V) Tetrafluoroethene
8o B BEHHBB0

rder -1 rdHee - 11

A) NH-(CH,)~NH-CO—(CH,),-CO}- 1) 2065 356 H0akn BOFOE ey
B) {CO~(CH,);~NH} ) 58 H0ckn PoIQTE

C) 4CE,-CE ) M) s@Forgs:

D) {O—CHZ —~CH, -00C @ CO} IV) 50808 Blabw $000%0
’ DEHE w0

V) Sgrdé'ads
The correct answer 18

DO DEPTHH0

Options :
A B C€C D
N H YV 1

=
o
[@!
|/
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[ve
[@!
|w

: v W I 1
A B € D
: I N I Y

Question Number : 152 Question Id : 1874633992 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following statements about DNA 1s not correct?

DNA % 50208008 1Bod dS58n0s® 96 POGIE &7

Options :
It has a double helix structure

&8 B WrBE) DT)20 GOoHR

Adenine forms hydrogen bonds with thymine and cytosine forms hydrogen bonds
with guanine

>

DAIN, B TERS VOTON IR0 R PERS, MBS TE'RS ool
DB

-

The two strands in a DNA molecule are not complementary to each other

DNA @:056&° Bokh SodhJen o€ ord8 S Sordior &odd

It contains the pentose sugar. 2-deoxy ribose

HAeS* 2-&6.5%3;6_25‘&' ©3 WoL*E {8 G0

Question Number : 153 Question Id : 1874633993 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following 1s not an analgesic?

BodTdS® Ty VGG (analgesic) TR& A6?

Options :

gcollegeduniaa
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Paracetamol

Forolddrd

L2

Morphine
550 A )

Codeine
§‘§_ 0

Question Number : 154 Question Id : 1874633994 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Whach of the following statements are correct?
a) The C-Clbond in chlorobenzene is shorter than in chloromethane
b) It is difficult to replace chlorine from chlorobenzene than from benzyl chloride

¢) The C-Clbond in chlorobenzene has some double bond character

d) Chlorobenzene on chlorination gives m-dichlorobenzene

Bod VBT JS0ID ID?

a) ETNFIS* 808 §6B0ERS* C-Cl 208 BEgo SEYHT ool
b) B[oBS §BES’ §08 §T Bods Hood 0% Sonotols E350
c) & BodSs" C-Clwogrdd EE Hwod 0o ok

d) §&C Dol FOIAS 20LIBYE MBS G'BoES GBS

Options :

ab.c

a.d only

12

b.c.d
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, d only

Question Number : 155 Question Id : 1874633995 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arrange the following in increasing order of acidic character

Bod TE sl Jqrdo WOR EHod® wddod

OH

OH OH
D) 1) @\ 1) @ V)
oy NO

CH

3 2

Options :

1 I<II<IOI<IV

I<IV<II<III

12

IV<HOI<II<I

M<II<IV<I

Question Number : 156 Question Id : 1874633996 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The major product obtained in the following reaction 1s

Bod S8ge* IHE PTS &Sy

T"\I
ol ol

CH,
|

|

CH,

Options :

[ ]
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CH,
|
CH; —-C—-0-C,H;

CH,
CH, =C-CH,

|
CH,

!-J

CH; -CH-0-C,H;
|
CH,

CH;
|

CH; -C-CH,CHO
|
CH;

Question Number : 157 Question Id : 1874633997 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

The product of the following reaction 1s

Bod SEgeS” 230'33 & SY0)0

t}i.lN'a:OH
CgHsCHO + CH;CH,CHO —22 200
Options :

C¢H:CH = CHCH,CHO
1.

OH

|
C4H; — CH - CH,CH,CHO

1

[ ]
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CsH;CH=C-CHO
[
CH,

OH

|
7 Ay 8 %H ~CHO
CH;

Question Number : 158 Question Id : 1874633998 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

- . : -
If general formula of oxime and semicarbazone 1s == L,

what 1s ‘Z" in oxime (I) and semicarbazone (II)?

g —— . T—— o "
SHD, PWFYFVO ¥ FEor C=N-Z wond, s (D), DasGE's (1)
o&* ‘Z’ 267

Options :

I I
NHCONH, OH

I i

OH NH,

I i

OH NHCONH,
3.

I i
, NH, OH

Question Number : 159 Question Id : 1874633999 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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In the following reaction sequence. the product D 1s

B0l radd U8y wdEes” edyho D Q8?

CHLOO0H =9 i “ef o5 "V o6 S8 o

AlCl,
Options :
COOH
@( CH, —C]“-—CH3
on
1.
CN
@/c ~CH,
OH
CH, -é--cH3
A
3
-
C—-COOH
o
4
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Identify X and Y in the following reactions

Bod SGgod” X, Yo Hiodod

x—2I18 ,CH,CH,CH,NH, « 21508y

Options :

X
CH;CH,CH,CN

X
CH;CH,CN

-2

X
CH,CH,CH,NC

%
CH,CH,CN

¥
CH,;CH,CH,CONH,

Y
CH,CH,CH,CONH,

Y
CH,CH,CONHCH,;

Y
CH,CH,CONH,
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